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Skill: Number sense, related concepts and basic number competency Paper Set: A, Medium: English

Question no: 1

100
a0 ol

2488 + 8= =T
A:ll &0 - mE 75
B. 311 40 g ".‘l C 112
C: 2480 2 1y b 0 5
D: 2496 . e *“m'*'-"-*'-'\uwmm\..m .....
g ﬂ_'_l_'___'___ ERE i - il
4 5 12 16 20 24 28 32 3 40
Overall | A: 8.3%|B: 76.4% | C: 11.3% | D: 3.5% | Invalid Answer: 0.2% | Not Attempted: 0.4%
Question no: 2
Skill: Number sense, related concepts and basic number competency Paper Set: A, Medium: English
A number when added to 35 gives 56.
25 100
+|Z| 80 #A 3
S5e B0 mE 5
4014 C A3E
- z0 - 0 26X
What is the number? 0 guish o
A 12 4 8 12 16 20 24 28 32 36 40
B: 20
c:21
D: 91
Overall |A: 3.5%|B:5.7%| C: 63.2% | D: 26.9% | Invalid Answer: 0.3% | Not Attempted: 0.4%
Question no: 3
Skill: Number sense, related concepts and basic number competency Paper Set: A, Medium: English
inn “H‘m
7341 is completely divisible by 0 A Y
A:3 &1 ‘,«‘“ mE 15%
B:5 40 ‘,‘“‘ C 24
C.7 20 _54%1, 0 22%
D' 9 " '—‘A‘T T T T T T .-'|1-:l1."‘¥—':¢:::' -
4 5 12 16 20 24 28 32 3 40
Overall [A: 35.1% |B:16.0% [ C: 25.0% | D: 22.4% | Invalid Answer: 0.5%| Not Attempted: 1.1%




Question no: 4
Skill: Integers and Rational numbers, Powers and Bases Paper Set: A, Medium: English

i0n . RS ‘ﬁ"#m
3 0nes + 7 tens = 50 it +A 517
A: 73 6 K mE 42
B: 40 40 “ Co11¥
C:37 20 4%, pag¥ D 31%
D:10 0 :m"f‘:"::“—
4 8§ 12z 16 20 24 25 32 36 4o
Overall |A: 51.4% [B:4.3%|C: 11.9% | D: 31.3% | Invalid Answer: 0.4% | Not Attempted: 0.6%
Question no: 5
Skill: Integers and Rational numbers, Powers and Bases Paper Set: A, Medium: English
100 |
L]
-4 - (-5) = &0 " #A 338
A -1 60 m mE Z5%
B:1 400 b ¥ e - C 268
st es
C:-9 20 |4 ,,,..,r-""w“q o D 14%
D:9 L il LT T
¢ § 12 16 20 24 28 32 36 40
Overall | A: 33.6%|B: 25.0% | C: 26.2% | D: 14.4% | Invalid Answer: 0.4%| Not Attempted: 0.4%
Question no: 6
Skill: Integers and Rational numbers, Powers and Bases Paper Set: A, Medium: English
100 +HH
Which of these is the cube root of 729? 50 we +A 42
A:9 &0 m"“' + mE 133
B: 13 40 et C12%
C: 19 20 fa'eidng e D 29%
D 27 P P : : : I T—""_r'-_'_:- Iy J'l#:::r-,

L
4 8§ 12 16 20 24 25 32 36 40

Overall | A: 42.5%

B: 13.6%

C:12.9%

D: 29.9%

Invalid Answer: 0.3%| Not Attempted: 0.9%




Question no: 7
Skill: Number sense, related concepts and basic number competency Paper Set: A, Medium: English

1ng H N .
Which difference is closest to 300,000? s 1, __""..' -* A 23
A: 100,000 — 50,000 &0 mg 53
B: 500,000 — 300,000 ol C 102
C: 900,000 — 800,000 a0 Ju R P, 06
D: 800,000 — 100,000 . L3 it ta
4 & 12 16 20 24 28 32 36 40

Overall | A: 23.4%|B: 58.6% | C: 10.8% | D: 6.3%]| Invalid Answer: 0.2% | Not Attempted: 0.7%

Question no: 8
Skill: Fractions, Decimals, Ratios and Percentages Paper Set: A, Medium: English

1on
234 +7.65= o 0 15%
A:99.9 60 * mE 7
B. 0.99 310 - C 65%
C: 9.99 a0 .—'\I u\;ﬁ!\‘
* Ay + O 10#
D: 999 | "'“m‘“; Sttt
0 EFSTY S by s 5450 hai
¢ 8 12 16 20 24 283 32 36 40

Overall | A: 15.8% | B: 7.8% | C: 65.2% | D: 10.3% | Invalid Answer: 0.4% | Not Attempted: 0.5%




Question no: 9

Skill: Applications in daily life, commercial Maths, word and visual problems Paper Set: A, Medium: English

4 jars of different shapes are filled with water upto
height as shown.

Which of them has the least amount of water in it?

the same

A:
100 |
50 ...__—"-'.'.'#_- +A 137
&0 - mE Fiod
B: 40 n" C 7
T
*
2']0 :’J‘.| T *T“'Tmfx‘*'lﬁ*_ :“: .'A i i — D ?g
4 8 12 16 20 24 28 32 36 dO
C:
D:
Overall | A: 13.6%|B: 70.9% |C: 7.5%|D: 7.2% | Invalid Answer: 0.2%| Not Attempted: 0.6%
Question no: 10
Skill: Fractions, Decimals, Ratios and Percentages Paper Set: A, Medium: English
Which of the following fractions is the greatest?
L] 8 ie 1
S ¢ 8 an #h 11
&0 mE 3
40 4 C 563
A: 24 j" .\' "! EE : mwm"*',' D 28X
B: 48 4 8 12z 16 20 24 28 32 36 40
C: 816

D: (all are equal)

Overall |A: 11.0% |B: 3.6% [C: 56.8% | D: 28.1%

Invalid Answer: 0.2% | Not Attempted: 0.3%




Question no: 11

Skill: Fractions, Decimals, Ratios and Percentages Paper Set: A, Medium: English

If represents 75%, which of the following represents
125%7?
| 100
A &0 A 13E
’ &0 mE 158%
+0 C 50%
, 20 |25 _—y 0 172
> N W 1
4 8 12 16 20 24 28 32 3 40
C:
D:
Overall |A: 13.2% | B: 18.1% | C: 50.2% | D: 17.6% | Invalid Answer: 0.3%| Not Attempted: 0.6%
Question no: 12
Skill: Fractions, Decimals, Ratios and Percentages Paper Set: A, Medium: English
What fraction of the shape below is shaded?
100
& A 15%
60 mE 26d
40 ) C 20
Al 20 .*;-""“.::::"'-.h" O 362
B: 12 |:| e T T T T W‘m F ' '\-'\-'\-
C: more than 12 4 8 12 16 20 24 28 32 36 40
D: less than 12
Overall | A: 15.7% | B: 26.7% | C: 20.3% | D: 36.4% | Invalid Answer: 0.4%| Not Attempted: 0.7%




Question no: 13
Skill: Number sense, related concepts and basic number competency Paper Set: A, Medium: English

100 SHLHE
What is the place value of 5in 546207 50 “mw +h 652
A: ten thousands 50 o mg o7
B: hundreds ol o C g2
C: tens a0 Lotmihey 011y
D: ones ) o et ety
4 5 12 16 20 24 28 32 36 40
Overall | A: 68.9% [B: 9.6%|C: 8.9%|D: 11.6% | Invalid Answer: 0.4%| Not Attempted: 0.6%
Question no: 14
Skill: Fractions, Decimals, Ratios and Percentages Paper Set: A, Medium: English
100
4.465 —1.286 = 1) +a 164
A:5.751 &0 mE 17%
B:3.189 » ﬂ” C a5y
C:3.179 20 |a* Lk 0 19%
D: 3.279 .] "ﬁ N ot
4 & 12 16 20 24 28 32 36 40
Overall |A: 16.2% | B: 17.8% | C: 45.1% | D: 19.6% | Invalid Answer: 0.2%| Not Attempted: 1.0%

Question no: 15

Skill: Mensuration - Area and Perimeter, Volume and Surface Area Paper Set: A, Medium: English

Calculate the perimeter of the following rectangle:
ion
6cm a0 +a 28y
60 N mE 19%
g
0 » Mu_«"‘ .'.-Jl'.' C 39
12 cm 21" Tk oty S b ut
Ll T T T T T B _—
4 5 12 16 20 24 28 32 36 40
A:18 cm
B: 72 cm
C:36 cm
D: 24 cm
Overall [ A: 28.8% | B: 19.9% | C: 39.2% | D: 11.5% | Invalid Answer: 0.2% | Not Attempted: 0.4%




Question no: 16
Skill: Algebra: concepts and applications Paper Set: A, Medium: English

1ng

-_.-'-_'-'..-

If X=6andY=9and Z=12then X +Y -Z= 80 — #8148
A:0 &1 _.' mE 563
B:3 W e C &
C:6 T D 153
D: 15 W it T PTY TN
4 8 12 16 20 24 28 32 36 40
Overall | A: 14.7%|B: 56.4% | C: 8.9%| D: 19.6% | Invalid Answer: 0.3% | Not Attempted: 0.2%
Question no: 17
Skill: Number sense, related concepts and basic number competency Paper Set: A, Medium: English
100
Which number is the smallest? 80 +8 0
A: 3,124,300 B0 mE 173
B: 3,214,243 0 C 2oy
C: 3,124,030 a0 ._.::" & O 482
D: 3,102,430 o e s e
4 8 12 16 20 24 28 32 36 40
Overall | A: 9.3%|B: 12.0% | C: 29.1% | D: 48.7% | Invalid Answer: 0.4% | Not Attempted: 0.6%
Question no: 18
Skill: Mensuration - Area and Perimeter, Volume and Surface Area Paper Set: A, Medium: English
Cuboid x and Cuboid y below are both made of 4 identical unit
cubes each.
100
&0 #0158
Bi mE 1Y
40 {4 n i C 33X
X y 20 | A “":: + ...".'- 0 19%
. 'WWW"‘H\»*V**‘,, AN
What can be said about volume of x and y? © 4 8 12 16 20 24 28 32 36 40

A: Volume of x is greater than volume of y.

B: Volume of x is less than volume of y.

C: Volume of x is same as volume of y.

D: Volume of x and volume of y can’t be determined.

A:154%|B:31.2%|C: 33.1% |D: 19.5%

Overall

Invalid Answer: 0.3%

Not Attempted: 0.5%




Question no: 19

Skill: Mensuration - Area and Perimeter, Volume and Surface Area Paper Set: A, Medium: English

4 identical tiles are used to form the shape shown below. The

area of the shape is 16 sq cm.

Some more identical tiles were added to the above shape to form
another shape with area 36 sq cm. Which of the following could

be the new shape formed?

100 Frey
"
&0 as
&
* ‘M.l
40 g om &
* A A ‘i
2 T 1daﬂ¢'§'!=g=‘.‘g:::,
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4 5§ 12 16 20 24 25 32 36 40

A 153
mE 33%
AC ZBE
oD 20¥

Overall | A: 15.9% | B: 33.7%| C: 28.3% | D: 20.9% | Invalid Answer: 0.3%| Not Attempted: 0.9%
Question no: 20
Skill: Algebra: concepts and applications Paper Set: A, Medium: English
1o ¢”¢¢++t$¢
If A=2what is 3A equal to? 80 ot +n 82
A2 B e mE 187
B:3 41 ;‘:"‘"‘u‘““i:ﬂ“f AC 0¥
C:5 0 | - =" o0 32
D:6 R SR ST T
4 8 12 16 20 24 28 32 36 40

Overall | A: 8.2%|B: 18.2% | C: 40.2% | D: 32.9% | Invalid Answer: 0.2% | Not Attempted: 0.3%




Question no: 21

Skill: Basic Shapes, Geometry and Visual estimation Paper Set: A, Medium: English

Three equilateral triangles are inscribed in a circle with center O

as shown below.

100

0 &0 +A B
60 e mE 9%
1 3
0 C 20%
20 |m sy D 60
LRSS T T T T y—
) ) 4 8 12 16 20 24 28 32 3 40
Which of the three triangles are congruent?
A: triangles 1 and 2 only
B: triangles 2 and 3 only
C: triangles 1 and 3 only
D: all the three triangles
Overall | A: 8.4%|B: 9.8% | C: 20.6% | D: 60.8% | Invalid Answer: 0.3%| Not Attempted: 0.2%
Question no: 22
Skill: Basic Shapes, Geometry and Visual estimation Paper Set: A, Medium: English
100 +
B0 Y A 32K
. . . ) Bl A * mE 33%
This redacted item is not for public release. ol ‘___:“ o ‘*“‘_:‘,:_ . —
20 14 4 440 “mg ':: 0O 9
LR T T T T T T T—AEIIS
4 8 12 16 20 24 28 32 36 40

Overall [ A: 32.8% |B: 33.7%

C:23.1%

D: 9.7%]| Invalid Answer: 0.3% | Not Attempted: 0.4%







Question no: 23
Skill: Integers and Rational numbers, Powers and BasesPaper Set: A, Medium: English

1on ﬁ-_
Egl
\81 = 50 o~ +n 32
A:8.1 o o ___.-' mE 402
B:9 40 Yerbiiey, C o133
. N +
C:18 20 gy Pl "‘Hﬂ‘ O 12d
D: 40.5 't 3+ % PO P
0 i - - - : - AL o
4 & 12 16 20 24 28 32 36 40

Overall | A: 32.3%|B: 40.6% |C: 13.6% | D: 12.5% | Invalid Answer: 0.4%| Not Attempted: 0.6%

Question no: 24
Skill: Mensuration - Area and Perimeter, Volume and Surface AreaPaper Set: A, Medium: English

Here is arectangle with length 6 centimetres and width 4
centimetres. The length of its boundary is called its perimeter.

+—— G cm —

A
100
i &0 #A 1T
L . mE 253
40 w4 0 C 11X
20 ;'-:;:W _-'_-. O ddi
T YV S ———. . N
Which of these gives the perimeter of the rectangle in 4 8 12 16 20 24 28 32 36 40
centimetres?
A:6+4
B:6x4
C:6x4x2
D:6+4+6+4

Overall |A: 17.7% | B: 25.7% | C: 11.6% | D: 44.1% |Invalid Answer: 0.4%| Not Attempted: 0.5%










Question no: 25

Skill: Basic Shapes, Geometry and Visual estimationPaper Set: A, Medium: English

Farida has made a pattern with pieces of chart paper.

s § KK s { LXK 5 (>

What will come next in the pattern?
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Overall [ A: 20.5% (B: 17.8% | C: 24.0%

D: 36.8% | Invalid Answer: 0.3%

Not Attempted: 0.7%










Question no: 26

Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English

Jim has balanced some bags of marbles. All the marbles are of
the same weight. The number of marbles in eachbag is written

on it.

ion ..—F
50 L +a 142
L]
60 - mE 37
5 -~ C 19%
20 lu* |=W"‘. + 0 28%
/ ;— . -AHM*“‘** L YT
LR T T T T T T *o e —
4 5 12 16 20 24 28 32 3 40
How many marbles are there in the bag marked M?
A: 13
B: 17
C:33
D: 49
Overall |A: 14.8%|B: 37.6% |[C: 19.1%|D: 28.0% | Invalid Answer: 0.3%| Not Attempted: 0.2%
Question no: 27
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English
100 i
&n o #7187
80 _-' mE 1%
This redacted item is not for public release. 40 - o7y
T ;
20 142 prau,W¥etine by by 0 123
0 T T T T T -“-.-:.'-..-\._I "L'. """" —
4 8 12 16 20 24 28 32 36 40
Overall |A: 18.0%|B: 41.3% |[C: 28.0%|D: 12.1% | Invalid Answer: 0.2%| Not Attempted: 0.4%







Question no: 28
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English

A certain common formula converts the numbers in Box 1 to the
corresponding ones in Box 2. Another formula then converts the

numbers in Box 2 to the corresponding ones in Box 3:

>12

O o W

> 15

> 18

LIS 2 B S & R S

m

Box 1

If we wanted to convert a number m in Box 1 directly to the
corresponding number in Box 3, we could use the formula

A:3m+2
B:3mx 3
C: 3(m+2)
D:m+2x3

JRETEE S ¥
NN

Box 2

> 21

Box 3

100

a0

1]

40

a0 ::ﬁﬁ,iru.__-

A 16E
mE 32%
C 238
0 26d

12 18 20 24 25 32 30 40

Overall | A: 16.4%

B: 32.4%

C:23.8%

D: 26.2%

Invalid Answer: 0.3%

Not Attempted: 0.9%










Question no: 29
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English

Look at the picture below.

18+7 =£%

b4,
-
27+13 =3k
Al
100 gt EE
a0 ._-'-" . +f oY
&0 - mE 37
L) v C 10¥
20 1 kb 0O 1%
o Lo S it Sy
4 8 12 16 20 24 28 32 36 40
b4,
9
. »@’ - @E
Whatis ¥V ?
A: 6
B: 15
C:20
D: 40
Overall |A: 9.1%|B: 37.7% | C: 10.8% | D: 41.3% | Invalid Answer: 0.4% | Not Attempted: 0.7%
Question no: 30
Skill: Algebra: concepts and applicationsPaper Set: A, Medium: English
For any numbers x and y such that x = 70 + y, what can be said 100
about x and y? 80 +0 192
A x=y &0 mE 20}
B:x<y 0 la o o23d
C:x>y _ 21 "f + 0 35%
D: None of the above can be said as the exact values 0 g mzrrc;
of x or y are NOT known. 4 8 12 16 20 24 28 32 36 40

Overall | A: 19.8%

B:20.1%|C: 23.5%

D: 35.7%

Invalid Answer: 0.3%

Not Attempted: 0.6%




Question no: 31
Skill: Fractions, Decimals, Ratios and PercentagesPaper Set: A, Medium: English

Which fraction is the simplified form of 820 ?

A: 120
B: 45
C:.25
D: 48

lon

an

BN
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40 &#*;ﬂﬂ;*
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20 1,8 .".dll-'ni T
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0L e
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4 § 12 16 20 24 25 32 36 40

A Z1E
mE Z5¥
C 37k
O 14%

Overall

A: 21.9%

B: 25.0%

C:37.5%

D: 14.9%

Invalid Answer: 0.3%

Not Attempted: 0.4%










Question no: 32
Skill: Applications in daily life, commercial Maths, word and visual problemsPaper Set: A, Medium: English

Sheel counted the number of flowers in her garden. She made the following

chart.

Study the chart and answer the following question.

Number of Flowers
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NI

Rose

Lily

Lotus

Sunflower

How many more sunflowers were there than lilies in the garden?
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— T T T P
4 5 12 16 20 24 28 32 36 40

+A 8%
mE 267
C 158
D 483

Overall

A: 8.0%

B:26.6%

C:15.7%

D: 48.6%

Invalid Answer: 0.6%

Not Attempted: 0.5%










Question no: 33
Skill: Basic Shapes, Geometry and Visual estimationPaper Set: A, Medium: English

Which of these is a triangle?
A: 4 ,
R oy
100
&0 #A 19%
60 . mE 253
B: 41
C 26%
..,r,ﬂ","‘-ﬂ_. L o
20 e bt g = ] O 268
E ) +iny 3 ..4
L T T T T T T T
4 8 12 1e 20 24 28 32 36 40
C:
D:

Overall |A: 19.7% | B: 25.8% | C: 26.8% | D: 26.6% | Invalid Answer: 0.4%| Not Attempted: 0.7%










Question no: 34

Skill: Applications in daily life, commercial Maths, word and visual problemsPaper Set: A, Medium: English

Shown below is the graph representing the highest and the lowest temperature
recorded in a day for a week. Study it and answer the question.

©® Maximum Temperature
Minimum Temperature

45°

56 A
e N\
¥ o Z
5 25 -
i \T l |

Sun Mon Tues Wed Thu Fri Sat

Day

On which day of the week was the HIGHEST temperature recorded?
A: Sunday

B: Monday

C: Wednesday

D: Saturday

100

&l

&l

4l

o 1=

LR DBANNBRE W

1
mE 52!
i
0 15

Overall |A: 18.7% |B: 52.59% | C: 12.29% | D: 15.50 | Mvalld Not

Answer: 0.3% | Attempted: 0.8%

Question no: 35

Skill: Applications in daily life, commercial Maths, word and visual problemsPaper Set: A, Medium: English

Rahul is older than Ramesh and Ramesh is older than Peter. ;:u ;“m‘“

Which statement must be true? st

A: Rahul is older than Peter. o R

B: Rahul is younger than Peter. * stleite

C: Rahul is the same age as Peter. 20 (o3l S

D: We cannot tell who is the oldest from the information. 0 AN - LSS
4 B 12 16 20 24 28 32 36 40

A A0
mE 13%
Co1z2¥
0 32%

Overall | A: 40.6% |B: 13.7% | C: 12.5% | D: 32.1% | Invalid Answer: 0.3%

Not Attempted: 0.8%










Question no: 36
Skill: Algebra: concepts and applications Paper Set: A, Medium: English

Rahul's father is 6 times as old as Rahul. Rahul's mother is 25
years old. The average age of this family of three is 20 years.

1ng

How old is Rahul? - +h 32k
SR T mE 20%

A: 15 years 1 e e, 5t C 147

B: 10 years I e o e A 3 e, D 324

C: 7 years [ "R Y7

D: 5 years 4 5 12 16 20 24 28 32 36 40

Overall | A: 32.1% | B: 20.4% | C: 14.4% | D: 32.2% | Invalid Answer: 0.5%| Not Attempted: 0.5%

Question no: 37
Skill: Reasoning and Problem Solving (Advanced or challenging problems)Paper Set: A, Medium: English

A sheet of paper is 0.012 cm thick. What would be the height of

1ng

a stack of 400 sheets of this paper? o +h 35
A: 0.048 cm 1. uB 202
B: 0.48 cm 1y sttt st C 22
C:4.8cm 20 1ty W "'"""'--‘“"..w_...ﬂ'* . D 213
D: 48 Cm l:l 'I'I T T T T T T T T*?:?w—r\

4 8 12 16 20 24 28 32 36 40
Overall | A: 35.1% | B: 20.6% | C: 22.1% | D: 21.0% | Invalid Answer: 0.4%| Not Attempted: 0.8%

Question no: 38
Skill: Reasoning and Problem Solving (Advanced or challenging problems)Paper Set: A, Medium: English

Observe the number pattern in the number triangle above. Ifit is

1ng

extended, what will be the last number (on the right) in Nk b 378

the 9™ row? = mE 172

A: 25 L "*m””*"uhm C 162
) Al Y

B: 36 20 e they, O 27

C:61 [ w Ly

D: 81 4 8 12 16 20 24 25 32 36 40

Overall |A: 37.7%|B: 17.0% | C: 16.4% | D: 27.6% |Invalid Answer: 0.5%| Not Attempted: 0.8%










Question no: 39
Skill: Number sense, related concepts and basic number competencyPaper Set: A, Medium: English

100

72 = s s 142
A7 i mE 43%

. ¢ "
B: 14 o, -.-."...-.-l . C 298
C: 49 o | . 0 117

. . nyu
D: 72 I i N T N

4 & 1z 16 20 24 28 32 36 40

Overall | A: 14.5%|B: 43.8%|C: 29.6% [D: 11.1%| Invalid Answer: 0.4%| Not Attempted: 0.7%

Question no: 40
Skill: Mensuration - Area and Perimeter, Volume and Surface AreaPaper Set: A, Medium: English

What is the area of the square shown below?

A
100 ]
* +
7 cm 81 W +h 250
L 2]
3 ‘ﬂ; mE 26X
40 lm I C 22y
20 W" .'.n O 4%
LU T T T T T T i
4 8 12 16 20 24 28 32 36 40
\ 4
A: 49 cm?
B: 28 cm?
C: 14 cn?
D: 7 cm?

Overall [ A: 25.5% |B: 26.5% | C: 22.7% | D: 24.7% | Invalid Answer: 0.3% | Not Attempted: 0.3%

Note: For each question, options marked with RED letters shows % of students who gave wrong answers, options
marked with GREEN letters shows % of students who gave correct answers.




